

# UP FOR GRABS 25-26

Wednesday 6:30 pm

## Cardinal Lanes North

Lanes 1 - 24

USBC Certification:

### Team Standings

Place	#	Team Name	Points Won	Points Lost	Pins + HDCP	Place	#	Team Name	Points Won	Points Lost	Pins + HDCP
1	19	NICE BALLS	43	13	65878	13	7	DEM MOFOS	27	29	65139
2	24	FOUR J ' S	40	16	65703	14	2	INCREDBOWLS	26	30	65593
3	12	N AND W EXPRESS	38	18	65255	15	22	Team 22	26	30	65105
4	15	4 HORSEMEN	36	20	63646	16	8	ROLLIN' IN THE DEEP	26	30	64516
5	9	BOB'S PRO SHOP	35	21	66177	17	1	WE GOT BALLS	24	32	64322
6	10	LETS CARRY	35	21	65900	18	16	THE DEFIBRILLATORS	23	33	65303
7	14	RYAN & CO,	35	21	65451	19	18	THE UECKERS	20	36	65550
8	3	TEAM 3	31	25	65814	20	21	BAD NEWS BOWLERS	20	36	65137
9	11	BOWLING STONES	31	25	65336	21	20	FAMILY GUYS	20	36	64045
10	17	STARTED FROM THE	28	28	65536	22	4	4	19	37	64420
11	6	THE DUDES	28	28	65446	23	5	WE'RE NOT ALL RIGHT	17	39	65179
12	23	LUCKY STRIKERS	27	29	65363	24	13	BANDITS	15	41	64890

### Review of Last Week's Bowling.....

Lanes	Team Name	HDCP -1-	HDCP -2-	HDCP -3-	HDCP Total	Last Wk WON	Team Name	HDCP -1-	HDCP -2-	HDCP -3-	HDCP Total	Last Wk WON
1-2	N AND W EXPRESS	838	885	905	2628	0	<---> NICE BALLS	892	1019	940	2851	7
3-4	4 HORSEMEN	873	743	790	2406	0	<---> FOUR J ' S	929	859	872	2660	7
5-6	LETS CARRY	1019	817	905	2741	5	<---> TEAM 3	792	951	858	2601	2
7-8	BOB'S PRO SHOP	1025	943	1073	3041	7	<---> STARTED FROM THE	918	932	911	2761	0
9-10	RYAN & CO,	995	895	939	2829	7	<---> INCREDBOWLS	870	834	822	2526	0
11-12	BOWLING STONES	907	930	803	2640	5	<---> DEM MOFOS	835	850	929	2614	2
13-14	LUCKY STRIKERS	933	1003	863	2799	3	<---> Team 22	936	948	899	2783	4
15-16	THE DUDES	925	939	880	2744	7	<---> BAD NEWS BOWLERS	854	884	745	2483	0
17-18	FAMILY GUYS	887	836	890	2613	0	<---> ROLLIN' IN THE DEEP	917	937	953	2807	7
19-20	WE GOT BALLS	921	884	883	2688	5	<---> THE UECKERS	996	793	833	2622	2
21-22	THE DEFIBRILLATORS	920	912	804	2636	5	<---> 4	866	885	882	2633	2
23-24	WE'RE NOT ALL RIGH	957	906	855	2718	3	<---> BANDITS	861	934	882	2677	4

### Lane Assignments

	1-2	3-4	5-6	7-8	9-10	11-12	13-14	15-16	17-18	19-20	21-22	23-24
Wk25 03/11	19- 15	17- 13	23- 11	21- 9	16- 4	14- 2	12- 8	10- 6	24- 3	22- 1	20- 7	18- 5
Wk26 03/18	21- 11	23- 9	17- 15	19- 13	12- 6	10- 8	16- 2	14- 4	20- 5	18- 7	24- 1	22- 3

### Last Week's Top Scores

Team Scratch Game	Team Scratch Series	Team Handicap Game	Team Handicap Series
1028 BOB'S PRO SHOP	2906 BOB'S PRO SHOP	1073 BOB'S PRO SHOP	3041 BOB'S PRO SHOP
939 LETS CARRY	2501 LETS CARRY	1019 LETS CARRY	2851 NICE BALLS
910 THE UECKERS	2454 WE'RE NOT ALL RIGHT	1019 NICE BALLS	2829 RYAN & CO,
885 TEAM 3	2427 RYAN & CO,	1003 LUCKY STRIKERS	2807 ROLLIN' IN THE DE
869 WE'RE NOT ALL RIGHT	2422 STARTED FROM THE	996 THE UECKERS	2799 LUCKY STRIKERS
861 RYAN & CO,	2403 TEAM 3	995 RYAN & CO,	2783 Team 22
Scratch Game	Scratch Series	Handicap Game	Handicap Series
289 CHRIS MANNING	803 LOUIS CARRAI	300 CHRIS MANNING	827 LOUIS CARRAI
279 LOUIS CARRAI	723 JOE DWERTMAN	289 SANDY BUESO	798 ZACK HUDDLESTON
278 ERIC WHITE	717 ZACK HUDDLESTON	288 ERIC WHITE	777 MAX COLEMAN
278 JOE DWERTMAN	706 D C KNIGHT	288 FRANK CARILLI	759 NICKY BEECROFT
269 D C KNIGHT	702 JAKE SATTERLIE	287 LOUIS CARRAI	757 TYLER MATHEWS
268 BRIAN HUGHES	694 CHRIS MANNING	285 KEVIN CSENSITS	755 BRIAN JOHNSON

### Season High Scores

Team Scratch Game	Team Scratch Series	Team Handicap Game	Team Handicap Series
1028 BOB'S PRO SHOP	2906 BOB'S PRO SHOP	1103 BOWLING STONES	3072 DEM MOFOS
1000 LETS CARRY	2721 TEAM 3	1093 DEM MOFOS	3058 BOWLING STONES
975 TEAM 3	2698 LETS CARRY	1085 TEAM 3	3041 BOB'S PRO SHOP
974 BOWLING STONES	2671 BOWLING STONES	1079 4	2997 TEAM 3

**Season High Scores - Continued**

<u>Scratch Game</u>		<u>Scratch Series</u>		<u>Handicap Game</u>		<u>Handicap Series</u>	
300	MIKE MIRANDA	803	LOUIS CARRAI	330	JUSTIN RIKER	863	ZACH BENTLEY
300	JIM WARNER	802	JACOB DUTTON	326	ANDY JUNG	850	JOE CORONA
300	ERIC WHITE	792	JOE DWERTMAN	325	MIKE MIRANDA	847	TYLER MATHEWS
300	JOHN LEARY	787	JIM WARNER	324	ZACH BENTLEY	842	NICKY BEECROFT
300	JAKE SATTERLIE			324	MAX COLEMAN		
300	JUSTIN RIKER						

**Split 1 High Scores**

<u>Team Scratch Game</u>		<u>Team Scratch Series</u>		<u>Team Handicap Game</u>		<u>Team Handicap Series</u>	
1015	BOB'S PRO SHOP	2742	BOB'S PRO SHOP	1095	BOWLING STONES	3072	DEM MOFOS
975	TEAM 3	2721	TEAM 3	1093	DEM MOFOS	3008	BOWLING STONES
960	LETS CARRY	2664	DEM MOFOS	1085	TEAM 3	2997	TEAM 3
957	DEM MOFOS	2644	LETS CARRY	1067	BANDITS	2993	FOUR J ' S
<u>Scratch Game</u>		<u>Scratch Series</u>		<u>Handicap Game</u>		<u>Handicap Series</u>	
300	JIM WARNER	787	JIM WARNER	326	ANDY JUNG	863	ZACH BENTLEY
300	JOHN LEARY	782	JAKE SATTERLIE	324	ZACH BENTLEY	818	D'MITRIC HAZEL
300	JAKE SATTERLIE	773	D C KNIGHT	312	JEREMIAH WARREN	811	JEFF BROWN
289	ZACH BENTLEY	758	ZACH BENTLEY	311	JEFF BROWN	800	D C KNIGHT

**Split 2 High Scores**

<u>Team Scratch Game</u>		<u>Team Scratch Series</u>		<u>Team Handicap Game</u>		<u>Team Handicap Series</u>	
949	BOB'S PRO SHOP	2700	BOB'S PRO SHOP	993	BOWLING STONES	2909	DEM MOFOS
1000	LETS CARRY	2675	TEAM 3	992	DEM MOFOS	2879	BOWLING STONES
925	TEAM 3	2668	LETS CARRY	995	TEAM 3	2885	TEAM 3
875	DEM MOFOS	2486	DEM MOFOS	1079	4	2935	FOUR J ' S
<u>Scratch Game</u>		<u>Scratch Series</u>		<u>Handicap Game</u>		<u>Handicap Series</u>	
300	JIM WARNER	782	JIM WARNER	330	JUSTIN RIKER	731	ZACH BENTLEY
300	ERIC WHITE	717	JAKE SATTERLIE	270	ANDY JUNG	847	TYLER MATHEWS
247	JOHN LEARY	748	D C KNIGHT	278	ZACH BENTLEY	831	SCOTT HIGHTOWER
277	JAKE SATTERLIE	773	JOE DWERTMAN	316	MAX COLEMAN	829	STEVEN ZURCHER
300	JUSTIN RIKER			316	PAUL MELFI		

**Team Rosters**

<u>Name</u>	<u>Pins</u>	<u>Gms</u>	<u>Avg HDCP</u>		<u>Name</u>	<u>Pins</u>	<u>Gms</u>	<u>Avg HDCP</u>	
<b>1 - WE GOT BALLS</b> Lane 20 HDCP=232 Avg=661					<b>2 - INCREDIBOWLS</b> Lane 12 HDCP=112 Avg=793				
BILL ROWE	6971	48	145	76	DARNAY LEARD	13587	66	205	22
RYAN MECKLER	9990	69	144	77	FLAVIO FURTADO	8507	45	189	36
BILLY VAUGHN SR	13138	72	182	43	DEVIN BLAKLEY	11674	62	188	37
CECIL GURGAINIOUS	12584	66	190	36	CHAD WHEELER	10172	48	211	17
BILLY VAUGHN JR	0	0	bk205	22	BILL DEVINE	2329	15	155	67
<b>3 - TEAM 3</b> Lane 18 HDCP=68 Avg=842					<b>4 - 4</b> Lane 10 HDCP=195 Avg=701				
D C KNIGHT	14916	67	222	7	STAN FORESTER	538	3	179	45
JEFF BROWN	14825	72	205	22	CAMERON CLARK	9385	54	173	51
JIMMY DAVIS	13158	66	199	27	REID FLOWE	9755	60	162	61
MIKE SLUSHER	14951	69	216	12	THOMAS HUMPHREY	10660	57	187	38
RANDALL POTTER	0	0	bk218	10	SHANE KRAFT	10770	62	173	51
<b>5 - WE'RE NOT ALL RIGHT</b> Lane 24 HDCP=88 Avg=821					<b>6 - THE DUDES</b> Lane 16 HDCP=126 Avg=778				
MIKE MIRANDA	13913	69	201	26	RICHARD FRANKEL	11580	63	183	42
JOSH WARNER	15165	72	210	18	DANNY BARNES	12209	66	184	41
JIM WARNER	16182	72	224	5	BEN GEORGE	14554	72	202	25
MIKE BLOCH	12887	69	186	39	JOHN SCHOEPFER	15049	72	209	18
					BILL HERNON	1299	6	bk203	24
					JAY JANZEN	0	0	bk190	36
<b>7 - DEM MOFOS</b> Lane 22 HDCP=124 Avg=781					<b>8 - ROLLIN' IN THE DEEP</b> Lane 14 HDCP=136 Avg=766				
MARKEL WILLIAMS	11502	63	182	43	BRIAN JOHNSON	11500	63	182	43
KYLE MALKIN	10885	54	201	26	KOS IAKOVIDIS	12841	72	178	46
D'MITRIC HAZEL	14190	72	197	29	CODY HURST	12519	63	198	28
BRANDON BALCHIN	10903	54	201	26	JOHN LEARY	15017	72	208	19
KYLE SHIRLEY	4259	24	177	47					
KYLE G. MALKIN	1376	9	152	70					

Name	Pins	Gms	Avg HDCP	
<b>9 - BOB'S PRO SHOP</b> Lane 8 HDCP=42 Avg=872				
JOE DWERTMAN	15005	66	227	2
NICKY BEECROFT	12649	63	200	27
JAKE SATTERLIE	15364	69	222	7
LOUIS CARRAI	14731	66	223	6
CHASE WHISNANT	1169	6	190	36
BEN CHESSON	4124	18	229	0
<b>11 - BOWLING STONES</b> Lane 6 HDCP=124 Avg=780				
ERIC JOHNSTON	12799	69	185	40
SONNY JONES	14140	72	196	30
ZACH BENTLEY	12655	66	191	35
JOE MEREDITH	14595	70	208	19
<b>13 - BANDITS</b> Lane 4 HDCP=234 Avg=658				
AARON BELCHER	12044	72	167	56
MIKE LANKFORD	10333	69	149	72
SPENCER ROWND	7763	45	172	52
RUSS MILLER	12276	72	170	54
ERIC HODGES	1669	12	139	81
<b>15 - 4 HORSEMEN</b> Lane 2 HDCP=187 Avg=711				
JEREMIAH WARREN	9830	61	161	62
RANDY EDWARDS	11024	61	180	45
JASON MILLER	13061	67	194	32
TAYLOR ENGLISH	8105	46	176	48
<b>17 - STARTED FROM THE</b> Lane 3 HDCP=112 Avg=795				
ZACK HUDDLESTON	13906	69	201	26
BRADLEY CSENCISITS	10808	60	180	45
PAUL MELFI	14716	69	213	15
KEVIN CSENCISITS	13287	66	201	26
JOSH MELFI	1823	9	202	25
<b>19 - NICE BALLS</b> Lane 1 HDCP=181 Avg=717				
JOHNNY PULLEN	11305	66	171	53
JEREMY CREASON	9681	54	179	45
ERIC CABINGAS	10279	63	163	60
TYLER MATHEWS	14106	69	204	23
<b>21 - BAD NEWS BOWLERS</b> Lane 7 HDCP=216 Avg=678				
RYAN ORLANDO	10346	69	149	72
SEAN CONNOR	12157	67	181	44
GREG TROTТА	12117	60	201	26
DYLAN ORLANDO	1325	9	147	74
TANNER KANODO	457	3	152	70
ERIC WHITE	10464	48	218	10
<b>23 - LUCKY STRIKERS</b> Lane 5 HDCP=206 Avg=688				
BOBBY FAIRCLOTH SR	4681	30	156	66
MATT JOHNSON	10595	63	168	55
MARC MORRISON	9778	66	148	73
BRIAN HUGHES	13638	63	216	12
TERRY FAIRCLOTH	8225	42	195	31
ELIO BABE	2165	15	144	77

Name	Pins	Gms	Avg HDCP	
<b>10 - LETS CARRY</b> Lane 15 HDCP=79 Avg=830				
STEVEN WOODCOCK	10829	51	212	16
JORDAN RACCA	12849	66	194	32
BOBBY FAIRCLOTH	12991	63	206	21
TRENT RACKLEY	15482	71	218	10
GREG SPEARS	1067	6	bk182	43
JIM FITCH	4226	20	211	17
<b>12 - N AND W EXPRESS</b> Lane 13 HDCP=143 Avg=759				
MICHAEL WIGGINS	12006	69	174	50
LUCAS NEAL	14220	72	197	29
MARK NEAL	8941	45	198	28
JUSTIN WIGGINS	10860	57	190	36
NICK MYER	7804	36	216	12
<b>14 - RYAN &amp; CO,</b> Lane 11 HDCP=131 Avg=772				
RYAN STRANGE	14759	72	204	23
JOE STRANGE	7352	48	153	69
RYAN WIGGINS	14124	72	196	30
CHRIS MANNING	5267	24	219	9
BRANDON DETHROW	7928	42	188	37
<b>16 - THE DEFIBRILLATORS</b> Lane 9 HDCP=96 Avg=811				
PETE O'BRIEN	1113	6	206	21
FRANK CARILLI	14894	72	206	21
TOM ALGER	13898	69	201	26
ROGER JAMES	11339	57	198	28
JUSTIN RIKER	13916	72	193	33
<b>18 - THE UECKERS</b> Lane 23 HDCP=87 Avg=820				
AVERY BUESO	3578	18	198	28
MIKE RYAN	13798	69	199	27
SANDY BUESO	14213	69	205	22
WALLY MUHARSKY	11127	51	218	10
BILL SHERIDAN	6614	33	200	27
RICHARD SKALSKI	5261	27	194	32
<b>20 - FAMILY GUYS</b> Lane 21 HDCP=210 Avg=685				
RYAN HIGHTOWER	9024	59	152	70
SCOTT HIGHTOWER	11164	63	177	47
STEVEN ZURCHER	12848	66	194	32
RYAN CLARK	9251	57	162	61
<b>22 - Team 22</b> Lane 19 HDCP=238 Avg=653				
ADAM FOSTER	9646	66	146	75
MAX COLEMAN	11634	69	168	55
JOHNNY BROADWAY	12265	72	170	54
ANDY JUNG	11175	66	169	54
<b>24 - FOUR J'S</b> Lane 17 HDCP=117 Avg=787				
JOE MUNDA	12919	69	187	38
JOE CORONA	13636	72	189	36
JACOB DUTTON	12981	57	227	2
BRETT KEELER	9757	53	184	41

**Temporary Substitutes Division 1: Enter Div Label**



**Division 1: Enter Div Label**

Name	Avg HDCP	Pins	Gms	High Game	High Sers	HDCP Game	HDCP Sers	-1-	-2-	-3-	Total	HDCP Total
SHELDON ADAMS	bk194	32	1189	6	223	607					0	0
TAYLOR CLINKER	122	97	368	3	141	368					0	0
TODD ELLIS	193	33	581	3	243	581					0	0
JASON FITZGERALD	0	0	0	0	0	0					0	0
JARRON FROST	179	45	2156	12	215	573					0	0
RICHARD GUY	bk196	30	592	3	221	592					0	0
JAYME HARRIS	177	47	4800	27	246	653	295	800			0	0
CHAD SEVERT	228	1	1403	6	268	718					0	0
MIKE TIFFANY	236	0	710	3	268	710					0	0

<u>Name</u>	<u>Avg HDCP</u>		<u>Pins</u>	<u>Gms</u>	<u>High Game</u>	<u>High Sers</u>	<u>HDCP Game</u>	<u>HDCP Sers</u>	<u>-1-</u>	<u>-2-</u>	<u>-3-</u>	<u>Total</u>	<u>HDCP Total</u>
SHAROME WILLIAMS	195	31	1758	9	242	617						0	0